| N of simulated tracks vs dxy | N of associated tracks (simToReco) vs dxy |

n %)
Q o
0 —
= yo]
g @
g 2
= 7}
O c
@ o
= o
o
10E:
ik
Qo v - : 9 :
3 | 5 |
x |5| x '
1-0- 2909 : " *-9 1-0- 900 SN0 - o Ii L i innannd I SENSEEEENED-SED -S89 - §-4 L 4
i 5
0.950 ] b b i ; b i ] ] 0.950 ] i b i i b ] ] ;
—-25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10 -5 0 5 10 15 20 25
TP dxy (cm) TP dxy (cm)
—=— DQM_TT_time_newbranch
| N of simulated tracK _
—— DQM_TT_newbranch_time_pLess
n 7]
Q o
0 =
5 I
o 10° 3
= S 10°
= 17}
O c
@ o
= o
102 2

%30 20 <10 0 10 20 30 30 =20 =10 10 2030
TP dz (cm) TP dz (cm)



	Contents
	Page 1


